
SAP ABAP table T5DCM {Calculation Method for Calculated/Actual Contributions}

T5DCM

MANDT [CLNT (3)]

ANTYP [CHAR (1)]

ANSPR [CHAR (4)]

MODBV [CHAR (2)]

ENDDA [DATS (8)]

VRFKO [CHAR (5)]

FUVRT [CHAR (2)]

IDBEI [CHAR (4)]

IDBAA [CHAR (4)]

IDBEA [CHAR (4)]

LGAAG [CHAR (4)]

LGFAG [CHAR (4)]

LGAAN [CHAR (4)]

LGFAN [CHAR (4)]

LGATG [CHAR (4)]

LGBAB [CHAR (4)]

IDVER [CHAR (4)]

LGKAN [CHAR (4)]

LKFAN [CHAR (4)]

LGCAN [CHAR (4)]

LGCAG [CHAR (4)]

LGCAT [CHAR (4)]

LGGEV [CHAR (4)]

LGEIN [CHAR (4)]

LGLFD [CHAR (4)]

FKFAK [CHAR (2)]

LGDEK [CHAR (4)]

VRFAG [CHAR (5)]

VRFAN [CHAR (5)]

LGABS [CHAR (4)]

LGABP [CHAR (4)]

KGPRZ [CHAR (5)]

T000

MANDT [CLNT (3)]

 T5DCM-MANDT = T000-MANDT 

0..N

0..N

T512W

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

LGART [CHAR (4)]

ENDDA [DATS (8)]

 T5DCM-LGAAG = T512W-LGART 

0..N

1

 T5DCM-LGAAN = T512W-LGART 

0..N

1

 T5DCM-LGABP = T512W-LGART 

0..N

1

 T5DCM-LGABS = T512W-LGART 

0..N

1

 T5DCM-LGATG = T512W-LGART 

0..N

1
 T5DCM-LGBAB = T512W-LGART 

0..N1
 T5DCM-LGCAG = T512W-LGART 

0..N
1  T5DCM-LGCAN = T512W-LGART 

0..N

1
 T5DCM-LGCAT = T512W-LGART 

0..N

1

 T5DCM-LGDEK = T512W-LGART 0..N

0..N

 T5DCM-LGEIN = T512W-LGART 
0..N

0..N

 T5DCM-LGFAG = T512W-LGART 

0..N

1
 T5DCM-LGFAN = T512W-LGART 

0..N

1  T5DCM-LGGEV = T512W-LGART 

0..N

0..N  T5DCM-LGKAN = T512W-LGART 

0..N

1

 T5DCM-LGLFD = T512W-LGART 

0..N

0..N

 T5DCM-LKFAN = T512W-LGART 

0..N

1

T5DC1

MANDT [CLNT (3)]

KOTYP [CHAR (1)]

KONST [CHAR (5)]

ENDDA [DATS (8)]

 T5DCM-KGPRZ = T5DC1-KONST 

0..N

1

 T5DCM-VRFAG = T5DC1-KONST 0..N

1

 T5DCM-VRFAN = T5DC1-KONST 
0..N1

 T5DCM-VRFKO = T5DC1-KONST 

0..N

1

T5DCA

MANDT [CLNT (3)]

ANTYP [CHAR (1)]

ANSPR [CHAR (4)] T5DCM-ANSPR = T5DCA-ANSPR 0..N

1

T5DCS

MANDT [CLNT (3)]

IDBEI [CHAR (4)]

SEQNO [CHAR (3)]

 T5DCM-IDBEA = T5DCS-IDBEI 

0..N

1

 T5DCM-IDBEI = T5DCS-IDBEI 

0..N

1

T5DWE

MANDT [CLNT (3)]

ANTYP [CHAR (1)]

ANSPR [CHAR (4)]

MODBV [CHAR (2)]

 T5DCM-MODBV = T5DWE-MODBV 

0..N

1

T5DWM

MANDT [CLNT (3)]

IDBAA [CHAR (4)]

ENDDA [DATS (8)]

 T5DCM-IDBAA = T5DWM-IDBAA 

0..N

1

T5DWOG

MANDT [CLNT (3)]

IDVER [CHAR (4)]

VRALT [NUMC (2)]

VRGSL [CHAR (1)]

GBJHR [NUMC (4)]

ENDDA [DATS (8)]

 T5DCM-IDVER = T5DWOG-IDVER 

0..N

1

T5DWY

MANDT [CLNT (3)]

FKTID [CHAR (1)]

NUMID [CHAR (2)]

 T5DCM-FKFAK = T5DWY-NUMID 

0..N

1

 T5DCM-FUVRT = T5DWY-NUMID 

0..N

1


